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20 21
11 4 11 25 11 5 12 2
% % % %
87 3 20.0 25.0 - -
4 27.5 31.6 16.7 27.5
5 35.0 25.0 - -
90 3 0.0 22.5 - -
4 17.5 12.5 10.8 8.3
5 0.0 20.0 - -
21
11 5 12 2
Brix Brix
kg/a % % kg/a %
87 16.7 481 15.1 27.5 539 16.1
90 10.8 595 16.5 8.3 655 16.4
n.s. n.s. n.s. n.s.
12 8 20
Brix
% /a %
87 36.6 421 14.5
90 11.7 441 13.8
)
20 21
11 4 11 25 11 5 12 2
% % % %
87 3 20.0 25.0 - -
4 27.5 31.6 16.7 27.5
5 35.0 25.0 - -
90 3 0.0 22.5 - -
4 17.5 12.5 10.8 8.3
5 0.0 20.0 - -
20
RW sC sy
(ka/a) (%) (ka/a)
87 4 16 10 30 646 14.44 93
90 4 16 10 30 584 12.98 76
g7 U 4 24 10 31 627 18.69 117
87 4 16 11 17 442 13.95 62
90 4 16 11 17 609 12.15 74
g7 U 4 24 11 13 617 18.24 113
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